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2.0+4.0+9. 5+5. 3+1. 9+2. 0+3. 3+1.0=29. Om

(1.9+2.0) /2% 6.0x0.15+(2.0x 14.8) x 0. 15=6. 2m3

(3.70+5.70) /2 x (0.85+0. 75) /2 x 0. 25+ (3. 70+3. 33) /2% 1.0x 0. 25=1. 8m3
6.2+1.8=38. Om3

6.2+1.8=8. Om3

(1.9+2.0) /2% 6.0+(2. 0% 14. 8) =41. 3m2
((2.1x2/0.15+2.2%x13.5/0. 15+ (3. 85+3. 75) /2 x 5. 3/0. 15+ (15+16) /2 x 2+14 x 13. 5+ (26+26) /2% 5. 3) x0.995=714. 47kg
20.8/10x0.15=0. 3m2
0.3x15.5+(0. 85+0. 75) /2 x 5. 3=8. 9m2
(2.2+42.3) /2% 2.0+2. 3x 13.5+(2.3+2.0) /2 x 5. 3=146. Im2
(3.70+5.70) /2x0.75x0. 25+ (3.70+3.33) /2% 1.0x 0. 25=1. 8m3

(2.00%0.5/2.0+1.00x0.5/2) x0.8=0. 6m3
3.00x0.8=2.4m2

(0.5x2.00/2+0.5%1.00/2) x0.1=0. 8m2
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A > 1)—Fk = 0.122m3/m2
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